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]_. WOFHEZ L7z EW,

(1) 9z + 5z = (2) 8b+b= (3) 5e+Tc=
(4) 3z 4 5z = (5) 3z + 3z = (6) z+22=
(7) Tz + 5z = (8) 2z + 8z = (9) a+2a=
(10) 5a + 7a =

D . RoEE LS,

(1) 2¢—Tc = (2) 8z — 6x = (3) 4y — Ty =
(4) c—3c = (5) 4z — 2z = (6) 4y — 4y =
(7) 3z — 6z = (8) by — 8y = (9) 5b—b =
(10) 4z — bz =

3. kowtErLas,

(1) 8z —x = (2) 4b—7b = (3) 5a —Ta =
(4) 122 — 7z = (5) 5o + 4z = (6) 10a — 3a =
(7) 8a + Ta = (8) 2y + 5y = (9) 3a —Ta =
(10) 12z — 9z =

4. wostmz i s,

(1) —8x —3x = (2) =92+ 62 = (3) —5x —bx =

(4) —7z — 8z = (5) 7b—5b = (6) 9c—c =

(7) =3z +2x= (8) c+4c= (9) —7a+4a =
(10) 4x + 8z = (11) 14c+8c = (12) —16¢+ 6¢c =
(13) =52+ 20z = (14) 11lc¢ —9c = (15) 20c — 15¢c =
(16) —14x — 3z = (17) 18y — 10y = (18) —20b+ 20b =
(19) y — 10y = (20) —15¢ + 18¢ =

— 13th-note —
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5. komEr Lis,

(1) 64+5+4 7+ 3z = (2) 7T+ 5+8a+Ta =
(3) da+a+2+4= (4) 5+1+2z+ 8z =
(5) T4+ 249c+9c = (6) 54+2+8a+9a =

0. wostms Lz,

(1) 9b—3b+7—5= (2) 5— 6+ 8y — 6y =
(3) 8b—4b+9—6 = (4) 4—2 44y — 9y =
(5) 2—T746¢c—5c = (6) 6c—Tc+3—6=

[ . wostEr Li s,

(1) 6+ 3 — 62 — 4z = (2) 2—2— 6z + 6z =

(3) —3+2r—2= (4) —6r+2+6+8 =

(5) —3—5—2c— 2= (6) 3b—Tb+6—5=

(7) =3 —8a+1+8a= (8) —Ty+2y+8+5=
(9) 11 — 7b— 18 — 16b = (10) —17 + 15+ 15z + 62 =
(11) 18z 4+ 19—z —1 = (12) 204+ 3z —4 — 192 =

(13) =11 =17 -2z + 13z =

— 13th-note —
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8. woitEs Lasu,

(1) —3(6 — 2a) — 2(2 + 3a) = (2) 3(2 +42) — A(Tz +1) =
(3) 36 +z)+2(5x+2) = (4) =32c+T7)+2(4—c) =
(5) 2(3+7c) —4(3+3c) = (6) 3(7 —3b) — 4(4b—6) =
(7) 2(7+7¢) + 3(4c+7) = (8) —3(6a +6) + 2(6 + 4a) =
(9) 2(3b—5) + 4(2 + 4b) = (10) —2(4 + 32) — 3(6 — 42) =

(11) =33z — 3) +4(dz — 1) = (12) 3(7 — 7b) — 4(2 — 3b) =

(13) 2(y —4) +3(1+y) = (14) 3(3b+7) + 4(5b — 6) =

(15) —4(6 +22) +2(2 +2) = (16) —5(6 — 3a) — 4(2a + 6) =

(17) 3(1 — 2z) — 6(22 — 6) = (18) 2(6b+7) +3(b+8) =

(19) —5(32 —3) —4(4z +7) = (20) —6(3 —4b) +2(5b— 1) =

— 13th-note —
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L. wommzLns,
(3) 5e+7c= 12¢

(1) 9245z = 14 (2) 8b+b= 9b

(4) 3z +5z = 8 (5) 3z +3z= OT 6) 24+2:= 32

(7) Te+5c= 12 (8) 2048z = 10 9) a+2a= 3a

(10) 5a+T7a= 12a

D . RoEE LS,

(1) 2¢—T7c= —aC (2) 8z —6x= 2@ 3) 4y —Ty= —3Y
(4) c—3c= —2cC (5) 4o — 20 = 2@ 6) 4y —4y= 0
(7) 3z —6z= —3x 8) 5y —8y= —3Y (9) 5b—b= 4b
(10) 4z — 52 = —&

3. kowEsLrs.
1) 8z —az= Tx (2) 4-7= —3b (3) 5a—Ta= —2a

(4) 122 —72= Dz

(5) bz +4z = 9T

(6) 10a —3a= Ta

(7) 8z +7x= 19 8) 2y+5y= TY 9) 3a—Ta= —4a
(10) 122 — 9z = 3@

4. wowmzLrso.
(1) -8z —3z= —1lx (2) -9z +6x= —3T (3) =bz —bz= —10x
(4) —Tz—8z= —1bx (5) b—5b= 2b 6) 9c—c= 8c
(7) =3z +zx= —2T (8) c+4c= dC 9) —Ta+4a= —3a
(10) 4z + 8z = 12x (11) 14c+8c= 22c¢ (12) —16c+6c= —10c

(13) =5z +20z = 15z (14) 1le—9c = 2cC (15) 20c —15¢ = DC

(16) —14z —3z = —17x (17) 18y — 10y = 8y (18) —20b+200= 0

(19) y—10y= —9y (20) —15¢+18¢= 3¢

— 13th-note —
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. ROFEE LSV,
(1) 6+5+7z+32z= 10 4+ 11 (2) 7T+5+8c+7a= 1ba + 12
(3) 4a+a+2+4= da + 6 (4) 5+1+2z+8 = 10 4 6
(5) T+2+9c+9c= 18c + 9 6) 5+2+8+9%= 17a + 7
. ROFEZEZ LSV,
(1) 9%—3b+7-5= 6b+ 2 2) 5—6+8y—6y= 2y — 1
(3) 8b—4b+9-6= 4b + 3 (4) 4—2+4y—9y= —OY + 2
(5) 2—T+6c—5c= € — O (6) 6c—Tc+3—-6= —C — 3
. ROFEZEZ LSV,
(1) 643 — 62 — 4z = (2) 2—2— 63+ 62 =
—10x + 9 0
(3) 3+2x—z= (4) —6x+2x+6+8=
xr—3 —b5x + 14
(5) -3—=5—-2c—2c= (6) 3b—Tb+6—5=
—4c — 8 —4b + 1
(7) =3 —8a+1+8a= (8) —Ty+2y+8+5=
—2 —5y + 13
(9) 11— 7b— 18 — 16b = (10) —17 4 15+ 15z + 6z =
—23b— 7 21x — 2
(11) 18z + 19—z —1= (12) 204+ 3z —4 — 192 =
17x + 18 —16x + 16
(13) =11 — 17— 2x + 13z =
11x — 28

— 13th-note —



8.
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WORHEZ LR E 0,

(1) =3(6 —2a) —2(2+ 3a) =

—22

(3) 3(54z) +2(5x +2) =
132 + 19

(5) 2(3+7c) —4(3+ 3¢) =
2c— 6

(7) 2(T+7c) +3(4c+T7) =
26¢ + 35

(9) 2(3b—5) +4(2 4 4b) =
22b — 2

(11) =33z — 3) +4(4ax — 1) =

Tx + 5

(13) 2(y —4) +3(1 +y) =
oY — 5

(15) —4(6 +22) +2(2 +2) =
—6z — 20

(17) 3(1 — 2x) — 6(2z — 6) =
—18x + 39

(19) —5(3z — 3) — d(4z +7) =
—31z — 13

(2) 3(2+42) — 4(Tz + 1) =
—16x 4 2

(4) =3(2c+T7)+2(4—c) =
—8c — 13

(6) 3(7 — 3b) — 4(4b — 6) =
—25b + 45

(8) —3(6a+ 6) +2(6 + 4a) =
—10a — 6

(10) —2(4+3z) — 3(6 — 42) =
6z — 26

(12) 3(7 — Tb) — 4(2 — 3b) =
—9b 4 13

(14) 3(3b+7) +4(5b — 6) =
29b — 3

(16) —5(6 — 3a) — 4(2a + 6) =
Ta — 54

(18) 2(6b+7) +3(b+8) =
15b + 38

(20) —6(3 —4b) +2(5b — 1) =
34b — 20

— 13th-note —



